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,QGXVWUL� VRFLDO� FRPPHUFH� ,QGRQHVLD� PHPLOLNL� KDPEDWDQ� GDODP�

PHODNXNDQ�VHJPHQWDVL�SDVDU�GDQ�LQRYDVL�WHUXWDPD�GDODP�VHJL�WHNQRORJL��.RWD�

%DQGXQJ�VHEDJDL�SHORSRU�VRFLDO�FRPPHUFH�\DQJ�PDMX�GDQ�EDQ\DN�EHUJHUDN�GL�

ELGDQJ� IDVKLRQ�� PDND� NRWD� GDQ� VHFWRU� WHUVHEXW� GLMDGLNDQ� REMHN� SHQHOLWLDQ�

GDODP�SHQHOLWLDQ� LQL��'DODP�UDQJND�XQWXN�PHQLQJNDWNDQ�NLQHUMD�SHUXVDKDDQ��

SHUXVDKDDQ� SHUOX� PHQLQJNDWNDQ� NHPDPSXDQ� RULHQWDVL� WHUKDGDS� SDVDU� GDQ�

NHPDPSXDQ� LQRYDVLQ\D��3HQHOLWLDQ� LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL�SHQJDUXK�

PDUNHW� RULHQWDWLRQ� WHUKDGDS� NLQHUMD� SHUXVDKDDQ� PHODOXL� LQRYDVL� VHEDJDL�

YDULDEHO�LQWHUYHQLQJ�

0HWRGH�\DQJ�GLJXQDNDQ�GDODP�SHQHOLWLDQ�LQL�DGDODK�VHFDUD�NXDQWLWDWLI��

5HVSRQGHQ� GDODPSHQHOLWLDQ� LQL� DGDODK� VHWLDS� RUDQJ� \DQJ� EHNHUMD� GL� GDODP�

LQGXVWUL� VRFLDO� FRPPHUFH� GL� %DQGXQJ� GHQJDQ� VHFWRU� IDVKLRQ� VHEDQ\DN� ����

UHVSRQGHQ�� 3HQJDPELODQ� VDPSHO� GLODNXNDQ� GHQJDQ� PLQLPXP� SHQJDPELODQ�

VDPSHO� XQWXN� SHQHOLWLDQ� 6(0�� 7HNQLN� DQDOLVLV� GDWD� \DQJ� GLJXQDNDQ� DGDODK�

3/6�6(0��

%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ�� GDSDW� GLVLPSXONDQ� EDKZD� PDUNHW�

RULHQWDWLRQ�EDLN�VHFDUD�VLPXOWDQ�GDQ�SDUVLDO�VHUWD� LQRYDVL�EHUSHQJDUXK�SRVLWLI�

WHUKDGDS�NLQHUMD�SHUXVDKDDQ�SDGD�LQGXVWUL�VRFLDO�FRPPHUFH�VXE�VHFWRU�IDVKLRQ�

GL�%DQGXQJ��

.DWD�.XQFL���VRFLDO�FRPPHUFH��PDUNHW�RULHQWDWLRQ��LQRYDVL��NLQHUMD�SHUXVDKDDQ


